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QUESTION 1

What represents a link pairing between a source module and target module? 

A. linkset 

B. link module 

C. link indicator 

D. formalmodule 

Correct Answer: A 

 

QUESTION 2

Which command installs an additionalDOORS server for deployment purposes? 

A. doors -minstall 

B. doorsd -minstall 

C. doorsdb -minstall 

D. net start "DOORS DB Server 9.0 00001" 

Correct Answer: B 

 

QUESTION 3

Which module level attribute can be edited? 

A. Prefix 

B. Mapping 

C. Created By 

D. Created On 

Correct Answer: A 

 

QUESTION 4

Which method is used to control the type and direction of all links? 

A. use link arrows 

B. enable linkset control 
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C. create linkset definitions 

D. create a mandatory default linkset pairing 

Correct Answer: D 

 

QUESTION 5

When a linked object is changed, which object(s) are marked as having a suspect link? 

A. only the changed object 

B. the changed object AND all objects linked to it 

C. only the objects linked to or from the changed object 

D. neither the changed object nor the objects linked to it 

Correct Answer: C 
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